D3-Jt 2013.4.25IR7F
i A _H__| B |KicKOFF RNBA—F Bt 2% |
1 48278 £ | 1100 | 217 (%2R VS fEET EANT [ssmeaEnaE
1 48278 £ | 1330 | 219 |8k Vs B AR |sswreEnaE
2 5838 & | 11.00 [ 221 |fBET VS K% BRRET [ —rorzt—wsok
2 583H| % 13:30 222 |#RK VS $E[E BRRET | A—hTnRE—YSUE
3 5A11E| + | 11.00 | 224 |X% VS {E AR [ssereEnes
3 5E11E| £ | 1330 | 225 |&% VS fERET AR |ssepeEnam
4 6H298( £ | 11:00 | 226 |8k vs X% BRRET [ —rorzt—ysok
4 6829A| * | 1330 | 228 |&% VS & ERRAT | —ronzm—vsir
5 786H| L 11:00 | 229 | K% VS B& BRRET | —honRE—YSUE
5 7A68| * | 13:30 | 231 |fBET VS BEXK BRRET [ h—ronzt—ysok
6 78208 x | 11.00 | 232 (X% VS fEET BERAT [ —rorzk—vsiE
6 78208 * 13:30 | 233 |$8fH VS X BRRET | A—FTnzE—ySUR
7 8A3A| L | 11:00 [ 235 [fEREL VS B BRRAT [ —rorak—vsiE
7 883H| £ | 13:30 | 236 |f&M VS KE BRRET | —torzE—vsoR
8 8H24H| £ | 11:00 | 238 |&% VS B BRRET [ —ronzs—vsir
8 88248 £ | 1330 | 239 |[fEET VS 1&i BRRET [ h—ronzt—ysok
9 9F218| £ | 11:00 | 242 |[KEF VS BRXK —FHl] |-FERIEHLE
9 98218| £ | 13:30 | 241 |t&E[E VS B — Pl | -FERSEHLE
10 9H28H| =% 11:00 245 |ERK VS fEET BRET | —torzK—vsUE
10 9RA28H| + | 13:30 | 244 |B%& Vs X% BRRET [ —ronzt—ysor




